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T THERFERECKE)

I & A M= RETHE | EfI

EREE AR T
As t=bcm 374.60 370 m

AsE K ER T
L=4.0km &
As &K T .
0.49 0.49| m
SHAE R T ,
As t=10cmL{F 0.20BH 125.56 126

B LS
As DT:4t 0.20BH L=6.8km 6.28 6| m

2 Hl

MemiEEl  0.2BH 618.97 620| ni

ERELEFEEL)
- HIEY]  0.2BH 549.29 550| ni

BEL&EEL)
- HIEY]  0.2BH 0.00 ol n
A (FEL) ;
DT:4t L=8.1km 8.64 9| m
TRERETL )
RC-40 t=19cm 125.56 126
B RC-40 t=5¢cm 321.22 321| nf

FEEET
RM-40 t=15cm 125.56 126 nt
xEL " .
B4 BRI EAs t=5cm 125.56 126] m

+8T

7L ERH=2.0m ZET1E 53.00 53 m




T TEREKERE - BEH)
o] o] @ | @ | ® ® | @ | | @ | | @ ®@ ® ®
DIP ¢ 100 DIP ¢ 200 DIP ¢ 150| DIP ¢ 200| DIP ¢ 100| 100~200
I f& RS R Xy B Bk
Asthg | A WA | AsEhde| REL | AsEik| BT WA | AsEhER| FEL | BEL | B | AsEEE| BA | AsEk
GESIl, As |t= 5cm
m 7.20 14.00 21.00 78.20 18.20 236.00 374.60
SRR As |t= 10cmLLF _
e 3.24 4.55 9.45 29.33 8.19 70.80 125.56
% M % | As |DT-4t .
m 0.16 0.23 0.47 1.47 0.41 3.54 6.28
o H &) (MK 0.20BH -
m 5.09| 12.25| 12053  4.41| 55.47| 1578 41.80| 183.29| 28.45| 30.16| 5.42| 3.89| 12.04| 5.5 95.24 618.97
BRL(HES) | L8 | 0.20BH .
m 3.95| 11.78| 112.64| 2.79| 5455 12.17| 39.56| 166.82| 19.92| 2879  5.29| 3.60| 891|  4.89 73.63 549.29
BRLERL) | L& |## 0.20BH _
m 0.00
KOS (FEL) | £8 |DT-4t° -
m 070 -0.84| -463] 131 -5.14| 226] -216] -207] 632 -1.83] -0.46| -011| 2.14| -0.28] 1343 8.64
TERELT #4 [RC-40 t=19cm -
3.24 4.55 29.33 8.19 70.80 125.56
LERET e |RC-40 t=5cm -
e 7.56| 118.17 24.30| 163.65 3.64 3.90 321.22
FERET ¥/ [RM-40 t=15cm .
m 3.24 4.55 9.45 29.33 8.19 70.80 125.56
* B T As |BERRIAS t=5cm -
e 3.24 4.55 9.45 29.33 8.19 70.80 125.56




BkE+TEE

EiE - B DIP ¢ 100mm LR IER] 1.57
TTHEEO® FERE 0.05 EWERFEL) 1.23
=E 393 g BEWORE 0.100 BRER(XET) -
FaskE BXETS EE 0.118 TERE 0.10
DIP ¢ 100mm TEA 0.90 TERE 0.15
DP:1.5m =B 0.05
L= | 3.60 m
O THEOT
360 x 2 =] 7.20]
O &R
0.90 x 3.60 =] 3.24]
O AsRELyD
324 %  0.05 =] 0.16]
O i
0.90 x 157 x  3.60 =] 5.09]
O #BRLEHEL)
(090 x 123 — 0118 x 0118 x 3.14 x 025 )x 3.60 =] 3.95]
O Ko (FEL)
509 — ( 395 =+ 09 ) =1 0.70]
O TREET - FERET - XKBT
0.90 x  3.60 =] 3.24]
ETE - B DIP ¢ 100mm TEE] 167
TTIHEE @ FERE = ERERGEL) 157
RE smatat B0 0.100 W (KR T) —
ook RRATR ENE 0118 TEEE =
DIP ¢ 100mm I 0.90 TERR 0.05
DP:1.5m EJE] —
500 — 360 + 7.00
L= | 8.40 m
O HmiEH
090 x 1.62 x 840 =] 12.25]
O #BELGEL)
(090 x 157 — 0.118 x 0118 x 3.14 x 025 )x 8.40 =] T1.79]
O KL (REL)
1225 — ( 1178 + 09 ) =] -0.84]

O LERET

0.90 x  8.40 |: I 7.56|




EiE - B DIP ¢ 100mm Rl 1.02
ITTHEEOQ [ EE — ERER GeET) 0.97
E s BEWORE 0.100 BRER(XRET) -
FkE AT ENE 0.118 TERE =
DIP ¢ 100mm e 0.65 TERE 0.05
DP:0.9m E3E] —
18530 — 140 — 7.00 + 4.90
L= | 181.80 m
O HEimy
0.65 x 1.02 x 181.80 =] 12053
O #BELGEL)
( 065 x 097 — 0118 x 0118 x 314 x 025 )x  181.80 =] T12.64]
O EHLs(FEEL)
12053 — ( 11264 + 09 ) =1 -1.63]
O LERET
0.65 x 181.80 =] T18.17]
ETE - B DIP ¢ 100mm TEE] 0.97
TTIHEE® FERE 0.05 EWERGEL) 0.63
BE OSOM | EWORE 0.100 BRERHEL) -
Bk P EIE 0.118 TERE 0.19
DIP ¢ 100mn TEER 0.65 TERR 0.15
DP:0.9m EJE] 0.05
2300 — 800 — 800
L= | 7.00 m
O Syl
700 x 2 =] 14.00]
O =R AR
0.65 x 7.00 =] 455]
O AsRALSD
455 x  0.05 =] 0.23]
O HiEH
0.65 x 0.97 x  7.00 =] 40T]
O #BREL(ELT)
( 065 x 063 — 0118 x 0118 x 3.14 x 025 )x 7.00 =] 2.79]
O FEHLs(FEL)
441 — (279 <+ 09 ) E1 131]
O TBHRET - FBRRBRI -XRET
0.65 x  7.00 =1 4.55]




EiE - B DIP ¢ 100mm Rl 1.02
TTEHEEZ G [ EE — ERERREL) 1.02
FxEL st BEWORE 0.100 BRER(XRET) -
FRkE RXETES EE 0.118 TRERE =
DIP ¢ 100mm e 0.65 TERE —
DP:0.9m E3E] —
L= | 83.66 m
O HWIEH
0.65 x 1.02 x 83.66 =] 5547]
O #BRLEEL)
(065 x 1.02 — 0118 x 0.118 x 3.14 x 025 )x  83.66 ] 5455]
O BHAHFEL)
5547 — ( 5455 + 09 ) =] 514]
TR - B DIP $ 200mm ] T.67
TTIHEE ® FHERE 0.05 BEWERGEL) 1.33
BE OSOM | EWORE 0.200 BRERHEL) -
Bk PR EE 0.220 TERE 0.19
DIP ¢ 200mm TR 0.90 TREE 0.15
DP:1.5m ES 0.05
300 + 350 +
L= 10.50 m
O &k
1050 x 2 =] 21.00[ m
O 2= AR
0.90 x 10.50 =] 9.45] ni
O AsRALS
945 x 0.5 =] 0.47] i
O R
090 x 1.67 x 10.50 =] 1578] i
O #BRLFEL)
(090 x 133 — 0220 x 0220 x 3.14 x 025 )x 10.50 =] 1217] o
O KL (FEL)
1578 — ( 1217 + 09 ) [=] 2.26] ni
O FEHHET - LEHSET - RET
090 x 10.50 [=] 9.45] ni




EiE - R DIP ¢ 200mm HEEH 1.72
ITIHEED SRS - BWBRE (e +) 1.67
RO ER e BIREOR 0.200 HHIER (R 1) -
" BEIE e
BeKE BHER 0.220 TERE -
DIP ¢ 200mm EEIE 0.90 LR 0.05
DP:1.5m =8 -
200 + 700 + 300 + 700 + 800
L= 27.00 m
O MM
0.90 x 1.72 x 27.00 [=] 4180 i
O BELEEL)
(090 x 1.67 — 0220 x 0220 x 3.14 x 025 )x 27.00 [=] 3956] i
O BEMH(REL)
4180 — ( 3956 + 09 ) [=] -2.16]
O LE#RET
0.90 x 27.00 [=] 2430] i
EiE - BR DIP ¢ 200mm KRN 1.12
TTIEHESE R - B R (FE L) 1.07
ROF|ER e BIZOE 0.200 R R R £) —
. RRETRM =
BKE BEoME 0.220 TIERE -
DIP ¢ 200mm IR 0.75 LB 0.05
DP:0.9m =B -
20250 — 200 — 7.00 + 1340 + 770 + 3.60
L= 218.20 m
O HiEH
075 x 1.12 x 218.20 [=] 18329] nf
O BRELEEL)
(075 x 1.07 — 0220 x 0220 x 3.14 x 025)x  218.20 [=] 166.82]
O EHEn(FEL)
18329 — ( 16682 =+ 09 ) [=] 207 o
O LERET
075 x 21820 [=] 163.65] i




EiE - R DIP ¢ 200mm HEEH 0.97
TTHEEO IR 0.05 IR R (£ 1) 0.73
#HE 394 o BEREURE 0.200 HEMIER (R £) —
. BEIE e
BeKE BHER 0.220 TERE 0.19
DIP ¢ 200mm EEIE 0.75 LR 0.15
DP:0.9m B 0.05
310 + 7.00 + 2050 3.50 400 + 800
L= 39.10 m
O &I
39.10 x 2 [=] 7820 m
(O B:371 ¢
0.75 x 39.10 [=] 2933] i
O AsRALH
2933 x  0.05 [=] 147 o
O i
075 x 097 x 39.10 [=] 28.45] i
O BERELEEL)
(075 x 073 — 0.220 0220 x 314 x 025 )x  39.10 [=] 1992 i
O BHMH(FES)
2845 — ( 1992 =+ 09 ) [=] 632]
O THEERET - EERET - XET
075 x 39.10 [=] 2933] i
EiE - R DIP ¢ 200mm e m L) 1.12
TTIHES R - B R (FE L) 1.12
i+ e BIEUER 0.200 MR R (R +) —
N AT R =
feKE BEHE 0.220 TERE -
DIP ¢ 200mn IR 0.75 LERE -
DP:0.9m B3] -
3940 — 350
L= 35.90 m
O HiEd
075 x 1.12 x 3590 [=] 30.16] i
O #BEREL&HEL)
(075 x 1.12 — 0.220 0.220 x 3.14 x 0.25 )x 35.90 [=] 28.79] i
O EHEn(FEL)
3016 — ( 2879 =+ 09 ) [=] -183] i




EiE - R DIP ¢ 200mm HEEH 1.72
TTHEEO HERRE IR R (£ 1) 1.72
REL . BEREURE 0.200 HEMIER (R £) —
. BEIE e
BeKE BHER 0.220 TERE -
DIP ¢ 200mm EEIE 0.90 LR
DP:1.5m =8 -
L= 3.50 m
O MM
0.90 x 1.72 x 350 [=] 5.42] i
O #BRELEFEL)
(090 x 1.72 — 0220 x 0220 x 3.14 x 025 )x 3.50 [=] 5.29] i
O Ko (REL)
542 — ( 529 =+ 09 ) [=] -0.46] n
EiE - BR DIP ¢ 150mm KRN 1.07
TTHEED HhERRE - IR R (RE L) 1.02
ROF|ER e BIEUE 0.150 R R R £) —
. RRETRM
BKE BEoME 0.169 TIERE -
DIP ¢ 150mm IR 0.70 LB 0.05
DP:0.9m =B -
L= 5.20 m
O HiiEH
070 x 1.07 x 5.0 [=] 389] nf
O BRELEEL)
( 070 x 1.02 — 0.169 x 0.169 x 3.14 x 025 )x 5.20 [=] 3.60]
O EHEon(FEL)
380 — ( 36 <+ 09 ) [=] 011 i
O LERET
0.70 x 520 [=] 3.64] ni




EiE - R DIP ¢ 200mm HEEH 1.47
TTHEE® IR 0.05 IR (L +) 1.13
ROH) e BIREOR 0.200 HER R 1) -
" RRETERM
BeKE BHER 0.220 TERE 0.19
DIP ¢ 200mm EEIE 0.90 LR 0.15
DP:1.3m B 0.05
L= 9.10 m
[OF B3l
910 x 2 [=] 18.20]
O &R
090 x 9.10 [=] 8.19]
O AsRALS
819 x 0.05 [=] 0.41]
O i
0.90 x 1.47 x 9.10 [=] 12.04]
O #BRLEFETL)
(090 x 1.13 — 0220 x 0220 x 3.14 x 025 )x 9.10 [=] 8.91]
O Ko (FEL)
1204 — ( 891 =+ 09 ) [=] 2.14]
O THEERET - EERET - XET
0.90 x 9.10 [=] 8.19]
EfE - TR DIP ¢ 100mm IR 1.32
TTIHES R - MR (e +) 1.27
ROH] R e BIZUE 0.100 MR R (R +) —
. AT R =
feKE BEHE 0.118 TERKE -
DIP ¢ 100mn IR 0.65 B 0.05
DP:1.2m B3] -
L= 6.00 m
O HebiimH
0.65 x 1.32 x  6.00 [=] 5.15]
O #BREL&EEL)
( 065 x 127 — 0118 x 0118 x 3.14 x 025 )x 6.00 [=] 4.89]
O EHEn(FEL)
515 — ( 489 + 09 ) [=] -0.28]

O LERET

0.65 x  6.00 [=] 3.90]




EiE - BR DIP ¢ 100~200 HemAEE 1.38
TTHEE® IR 0.05 IR (L +) 1.04
O30 |, EEUE 0.1~0.22 HAER (@R L) -
e AXETER
BB E EEAME 0.163 TERE 0.19
DIP ¢ 100mn RIS 0.60 LR 0.15
FIHRHIELA3 =8 0.05
¢100mm | 60.00 |m
¢150mm | 12.00 |m
$200mm | 46.00 |m
L= 118.00 m
[OF B3l
11800 x 2 [=] 236.00] m
O &R
0.60 x 118.00 =] 7080 i
O AsRALS
7080 x 0.5 | 354] o
O i
( 060 x 1.38 — 0163 x 0.163 x 3.14 x 025 )x  118.00 95.24] i
O #BRLEFETL)
0.60 x 1.04 x 118.00 7363] i
O Ko (FEL)
9524 — ( 7363 =+ 09 ) | 1343 i
O THEERET - EERET - XET
0.60 x 118.00 = 7080 i




K EMRE
GXZ ¢ 100 - 150 - 200 - 300mm

& B L K M = ==K{v
$ 100 290.0 m
150 6.4 m
g B3 T ¢
$ 200 3337 m
$ 300 1.7 m
$ 100 22 A~
$ 150 3l O
$ 200 311 A
EE ¢ 100 73] 0O
EE ¢ 150 1l O
EE ¢ 200 67 0
EFE ¢ 100 20 O
EFE ¢ 150 4 O
BIE ¢ 200 36| 0O
EAT it
EFE ¢ 300 1 O
GY¥$100 26| O
GYvo $150 5/ O
GYv¥ $200 33 O
GY > ¢300 1l O
$ 100 9
n 7] iR B B T
$ 200 14| £
1a L = i = B3 B T i 3 =




®x B T IR B = AL
H X % % B T
E[] 2 H
B 7K i % B T
E[] 2 =
Lyvarvs—raRy 7 REBET
MB35 4 >
7 > b ¥ i F T
75 8l 0O
$ 100 395.2 m
BRRT—7L
¢ 150 8.0 m
$ 200 634.8 m
= A TN > — k T
$100 - ¢ 150 - ¢200 - ¢ 300 629.2 m
EHIEDIPA ¢ 100 1| &7
EHIEDIPA ¢ 200 1| &7
BLEREMFELY A L > —
e K 2 ¢ 100 1| &Fr
e K 72 ¢ 200 1| &Fr
xR K 72 ¢ 300 1| f&Fr
DIP ¢ 100 2 O
BEERE VI T
DIP ¢ 150 2 O
DIP ¢ 200 2 O




FokEM R

e BE (%) HE TS Fﬁcfi: . M ZFE =52 ZER%E BmRR%EE FIET =&
&3 N % s |111/4° |221/2° | 450 |221/2° | 45° 45° 28 | 3004 | 450H |100%100|200%100|200%200| 150-100|200-150{300-200|150-100| 200-150| 100%75 | 20075
GX
100 62 14 76 1 10 1 3 1 3 1 2
GX
150 1 1 1 1 1 1 2 1
GX
200 51 18 69 17 2 1 2 3 1 2 2 1 3 1 1 2
GX
300 1 1
ATVAEL | FCD | A7/bAEL[ FCD | BKE | BEAR V7F[V7F R
e mER | MER | B | HAE | E = T804 | A0t wose| ma IEE | AR P PN %E_ﬁ;n \/E_i
B | 75*200H|75*200H| O HE[O |500*690|500*690 M3 i L=1m/#&=| EFE
GX
100 1 1 1 1 1 1 7 2 9 9 9 20 18 26 & m
GX
150 4 1 5
GX 52 1629.2
200 1 1 1 1 1 1 10 4 14 14 14 36 24 33
GX
300 1 1




e &K & M B #A F
. DP0.S & § E kK 292.282 m
GXJB ¢ 100m m ~15 EBEHBREER 290.042 m
7 w o MREER HE E R
ER 4.000 62 248.000
1.190 4 4.760
3.000 1 3.000
1.860 1 1.860
s 1.000 3 3.000
1.200 1 1.200
1.450 1 1.450
st 1.390 1 1.390
(Y5 3.370 1 3.370
st 1.000 3 3.000
(Y5 1.200 1 1.200
e st 3.470 1 3.470
(Y5 0.800 1 0.800
0.800 1 0.800
(LT5 1.500 2 3.000
— GXFZ ¢100 11 1/4° 0.310 1 0.310
GX ¢ 100 22 1/2° 0.430 10 4.300
FCDM 5 phE GXFZ ¢ 100 45° 0.160 1 0.160
FCDfk#h G ¢ 100 0.200 3 0.600
FCOMZRE G ¢ 100 0.020 1 0.020
FCDZF& ¢ 100 x H300 0.730 3 2.190
FCDZF& ¢ 100 x H450 0.780 0 0.000
FCD=Z T ¥%& $ 100 %100 0.590 1 0.590
FCOZZTF% XMREE ¢ 200mTstE $200x 100 0.170 1 0.170
FCD7 7 v PR TZEE GXFZ ¢ 100% 75 0.440 2 0.880
FCD7 5 > 5% ¢ 75 % 1501 2
2T VL REER ¢ 75 % 200L (b1 -) 1
FCD#{EH ¢ 75 % 200L (b -) 1
27 v L ZEIMTF R E e O 1
FCD#1 T =Kk HO 1
VY vayy)- LT B - K3 BREROR 1 HAIR) ¢ 500 x 690H 1
Ly vavy)- R - K3 (BREROR ¢ BEKF) ¢ 500 % 690H 1
V7 b= tH KIEREROHKEE 3 ¢ 100 0.180 7 1.260
V7 =R KIEEIERO AL 3 ¢ 100 0.490 2 0.980
HEFRE - EE H=510~690mm 9
EA TR EEE ¢ 100 20
Z 54 % ¢ 100 0.029 18 0.522
/s GY > ¢100 26
A NI T DIP ¢ 100
THAE T 2E DIPFS ¢ 100% 100
&kl DIPA ¢ 100




e &K & M B #A F
. DP0.9m & Al & X 6.409 m
GX#2 ¢ 150mm EHBREE 6.409 m
%) w® o DP MEHER HE E R
B OE 0.9 5.000 0 0.000
0.9 1.000 1 1.000
ROE
0.9 2.000 1 2.000
ZE LLYE 0.9 1.000 1 1.000
GXJ ¢ 150 22 1/2° 0.9 0.410 1 0.410
FCDRAE GXJ ¢ 150 45° 0.9 0.470 1 0.470
FCDft#4 G ¢ 150 0.9 0.240 1 0.240
FCOmSEE G ¢ 150 0.9 0.020 1 0.020
FCOEEAEE G ¢ 150 % ¢ 100 0.9 0.410 2 0.820
FCDiE® A 3%E G ¢ 150 % ¢ 100 0.9 0.420 1 0.420
V7 by — R KERIER O HETE 3 ¢ 150 0.9 0.220 0.000
V7 bR KERER O HET L 4 ¢ 150 0.9 0.550 0.000
U E - EE H=510~690mm -
AT ERE ¢ 150 - 4
y 544 ¢ 150 0.9 0.029 1 0.029
Y GY>2 ¢150 - 5




. DP0.S & H§ E kK 338.756 m
GXJB ¢ 200m m ~15 EBEHABREER 333.716 m
) Kt wO% MARRER HE E R

B OE 5.000 51 255.000

1.120 7 7.840

2.000 2 4.000

" 2.500 1 2.500

1.000 3 3.000

1.020 1 1.020

1.380 1 1.380

2.990 1 2.990

0.000

0.000

0.000

st 4.400 1 4.400

st 3.500 1 3.500

st 1.650 1 1.650

st 1.640 1 1.640

st 2.940 1 2.940

st 1.990 1 1.990

st 1.250 1 1.250

st 2.620 2 5.240

Z9E st 1.590 1 1.590

st 3.450 1 3.450

st 1.390 1 1.390

st 4.080 1 4.080

st 1.000 2 2.000

0.000

0.000

0.000

EeD = GXFZ ¢200 22 1/2° 0.450 17 7.650

GXTZ ¢200 45° 0.530 2 1.060

FCDM S RHE GXFZ ¢200 22 1/2° 0.240 1 0.240

FCDRY I R> k 45° GXJ $200 45° 0.820 2 1.640

FCDikiR G ¢ 200 0.250 3 0.750

FCOmSEE G ¢ 200 0.020 1 0.020

FCDZFE $ 200 x H300 0.910 2 1.820

FCDZF& ¢ 200 x H450 1.010 2 2.020

FCD=Z T %% $200x100 3 ¢ 200%B 0.500 1 0.500

FCD=Z T ¥%& ¢ 200 x 200 0.810 3 2.430

FCDZiE/ %5 ¢ 200-150 0.440 1 0.440

FCDRZHEE ¢ 200-150 0.420 1 0.420

FCD7 5 v T GXFZ ¢200% 75 0.470 2 0.940
FCD7 5 v oE% $75x150L (DP0.9F) 2
27 v L ZEEER ¢ 75x200L(bn -) 1
FCDEfH1EH ¢ 75x200L (b1 -) 1
2T v L REH T RE A B[O 1
FCD#: T =08 g O 1
VY vayy- MR B - 8RE (BRERR B AE) $ 500 % 690H 1
VY vayy)- MR - SREE (BRERR ¢ HIkAR) ¢ 500 x 690H 1

V7 by -t KIEEIEROHKEHE 5 ¢ 200 0.260 10 2.600

V7 =R KIERIERDO AT E &3 ¢ 200 0.610 4 2.440
EORE - EA H=510~690mm 14
RE ¢ 200 36

” 54 F ¢ 200 0.039 24 0.936
P GY > ¢200 33




" DP1.6 B O E R 1.690 m
GX#2 ¢ 300mm EHBREE 1,690 m
W B 2 WHIER | #E £ &
2FE H=300 1.170 1 1.170
FCDZiRHFEE ¢ 300-200 0.520 1 0.520
ELEWHT RIVE ¢ 300 1
y GYU> 2 $300 1
g A
GXfZ2 ¢ 100mm L=4.0m/=&
RYE Z9E z9E ZE () B & P
1 1.190 1.390 1.42 2
2 1.190 1.000 1.81 2
3 1.190 1.000 1.81 2
4 1.190 1.000 1.81 2
5 3.000 1.00 1
6 1.860 0.800 0.800 0.54 3
7 1.000 1.500 1.50 2
8 1.000 1.500 1.50 2
9 1.000 3.00 1
10 1.200 2.80 1
11 1.450 2.55 1
12 3.370 0.63 1
13 1.200 2.80 1
14 3.470 0.53 1
s 22
GXF& ¢150mm L=5.0m/&
R z9E z9% ZE () B B o
1 1.000 2.000 1.000 1.000] 3
3




GXfZ  ¢200mm L=5.0m/=&
FEE ZYE ZYE ZE () % B il
1 1.120 3.500 0.380] 2
2 1.120 3.450 0.430] 2
3 1.120 2.940 0.940| 2
4 1.120 2.620 1.260| 2
5 1.120 2.620 1.260| 2
6 1.120 1.990 1.890| 2
7 1.120 1.650 2.230] 2
8 2.000 1.640 1.360| 2
9 2.000 1.250 1.750] 2
10 2.500 1.590 0.910f 2
11 1.000 1.390 2.610| 2
12 1.000 1.000 3.000( 2
13 1.000 1.000 3.000| 2
14 1.020 3.980( 1
15 1.380 3.620| 1
16 2.990 2.010f 1
17 4.400 0.600| 1
18 4.080 0920 1
B 31




B — FPEHER

B £ GX¢100mm | GX¢150mm | GX¢200mm | GX¢300mm
Eh R EER 290.042 6.409 333.716 1.690
BB E R 2 0 2 0
(ERRIER) 0.664 0.664 0.664 0.664
) £l = 288.714 6.409 332.388 1.690
X E B 288.7 6.4 332.4 1.7 629.2
R T—7HEHRK
5 = ¢ 100mm ¢ 150mm ¢ 200mm GX ¢ 300mm
B 15 62 0 51 0
7] 15 14 1 18 0
) £l = 395.2 8.0 634.8 0.0 1038.0
1K & 7= Y 5.2 8.0 9.2
B E B 19.76 0.400 31.74 52

%/ 20 m




-

DIP ¢100mm ¢ 150mm ¢ 200mm

w®OE B s B = B 7
DIP ¢ 100 60.0 m
WEEm BPRHA L DIP ¢ 150 12.0 m
DIP ¢ 200 46.0 m
DIP ¢ 100 17 u
o= E T DIP ¢ 150 3 N
DIP ¢ 200 13 u
W = E # 4t L=25kmLLF ]
= & 7 AT T T 2.5 t







T TE&G - iERGKE

59

@
HIVP ¢ 20~50
I & e s L2 FEx HE | XEIEE
Asthze | W
SHEE AR YT As [t= 5cm
m 36.00 36.00 36
RS hi R R As [t= 10cmBF .
m 10.80 10.80 11
% 4 % | As |[DT-at :
m 0.54 0.54 1
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